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1-5-2 = (1-5)-2 = -6
ﬁﬁﬁﬁ;%?@%fﬁmﬁﬂjfﬁ - x [ BERBDE - HBIL
IBEFRSR + -
(1)1 +3x4=13
(2)6+8/2*3
6+ 4 *3
6+ 12=18

(3)1+5x9/5-5=7
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Q1
Q2
Q3
Q4
Q5

:5+3/2-4
:15/20+6
:1*2+3*5
c"abc" + 1 + 2

- 'apbc”
bc" + (1 + 2)




Solution

Ql:5+3/2-4 %
Q2:15/20+6 13.5
Q3:1*2+3*5 17

Q4 :"abc"+1+2 "abc"12

Q5 : "abc" + (1 +2) "abc"3 2\l
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System.out.println(1/2);

Answer: ()




48/5=9(~=E9.6)
Java N EEEHE  HERELERSHIIEAN |

Blan

1.32/5 = 6

2.50/9 = A
3.100/3 = 33 AN

Note: AR 72 &R0 (Dividing by zero) - Hgf%)ﬁﬁfﬁﬁnﬁﬁg




sEIRIAR DR E

1. int 8 int £32&% int
88/5 =17

2. double B double &2 %& double
880/50=17.6

3. double B int #£%%A double




2 2UMHERRY P f

aiRR —S/VET ¢

B NI AT - BEIBEEK (Celsius)100 R EEIR A
# [ (Fahrenheit)}&fE -

f = 9/5*%C+32




1 G (Celsius)1008Y,m B B A=K (Fahrenheit))a &

double ¢ = 100;
double f = 2/5*c+32;

132.0

[ | ERSAEER
I' AMRDHEE ! 100




&9 (BERE) 1204 9.0 (FEREERE) Bl o it o i 5 B8
float ¢ = 100;
float £ = 9F/5*c+32 ;

double ¢ = 100;
double £ = 9.0/5*c+32; —
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152Kk = 125505

15205 = 2.539998 7
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#EIr 1, 2 oUARRE BHEBEEST
[CREBEF : 818 >, <, ==, 1=, >=, <= F4HERART

NERFIR ©




S

— = =S 1+1==2 E (True)
| = AZFR 21=2 {fx (False)
> AN 10> 5 E (True)
< IR 10 < 5 {fx (False)

>= RKIREFR 6>=4 H (True)

<= IWRER  (5-1)*2<=4 {’R (False)







Solution

IR R,

8 false false
10 5 true true
4 5 false false
-4 4 false false
10 9 false true q’
5 3 3

true true W
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(ThMEER 1 #iEEET IMEBED 2)

itk (boolean)iEE o, Bl F
1. (x == 3) > true/false and 8
2. (y >=15) > true/false or |
3. (t!=10) > true/false pq'




Al

&& (and) : MMEEARRKMIIT RE

HkEER 1 (BEL) | #HHEER2 (BE2)

false false false
false true false
true false false
true true true

| (or) : RE—EMMESNKIUEIR/E -

mikEEX 1 (BEL) | 7HKEE2 (BE2)

false false false

false true true

true false true \
N

true true true -



4% (True or false)

(A ==10) && (B > 20)
(A!=10) || (C> 10)

(B == 5*10) && (C > 60/20)
(C <=50) && (B > 20)

(B ==150) || (C!=45)
(C==90/2) && (10 > A)

o vk W N




Thank You!



